

# Probleuario

Nombre del Alumno:  
Jorge Francisco López  
Gordillo

Nombre del tema:  
probleuario

Nombre de la Materia: Calculo

Nombre del profesor: Juan  
José Ojeda Trujillo

Nombre de la

Licenciatura: Bachillerato

## Problemas

$$1. y = x^5 + 5x^4 - 10x^2 + 6$$

$$y' = \frac{d}{dx}(x^5) + 5 \frac{d}{dx}(x^4) - 10 \frac{d}{dx}(x^2) + \frac{d}{dx}(6)$$

$$= 5x^4 + 20x^3 - 20x$$

$$2. y = 3x^{1/2} - x^{3/2} + 2x^{-1/3}$$

$$y' = 3 \frac{d}{dx}(x^{1/2}) - \frac{d}{dx}(x^{3/2}) + 2 \frac{d}{dx}(x^{-1/3})$$

$$y' = \frac{3}{2} x^{-1/2} - \frac{3}{2} x^{1/2} - \frac{2}{3} x^{-4/3}$$

$$y' = \frac{3}{2\sqrt{x}} - \frac{3}{2}\sqrt{x} - \frac{2}{3}\sqrt[3]{x^2}$$

$$3. y = \frac{1}{2}x^{-2} + 4x^{-1/2}$$

$$y' = \frac{1}{2} \frac{d}{dx}(x^{-2}) + 4 \frac{d}{dx}(x^{-1/2})$$

$$y' = -x - 2x^{-3/2}$$

$$y' = -x - \frac{2}{\sqrt{x^3}}$$

$$4. y' = \sqrt{2x} + 2\sqrt{x}$$

$$y = \sqrt{2} \sqrt{x} + 2\sqrt{x}$$

$$y' = \frac{\sqrt{2}}{2} \frac{d}{dx} (x^{1/2}) + \frac{2}{1} \frac{d}{dx} (x^{1/2})$$

$$y' = \frac{\sqrt{2}}{2} x^{1/2} + x^{-1/2}$$

$$y' = \frac{\sqrt{2}}{2\sqrt{x}} + \frac{1}{\sqrt{x}} = \frac{1}{2} \sqrt{\frac{2}{x}} + \frac{1}{\sqrt{x}}$$

$$5. F(t) = \frac{2}{\sqrt{t}} + \frac{6}{\sqrt[3]{t}}$$

$$F'(2) = 2 \cdot 2^{-1/2} + 6 \cdot 2^{-1/3}$$

$$F'(t) = 2t^{-3/2} + 6t^{-4/3}$$

$$F'(2) = \frac{2}{\sqrt{2}} + \frac{6}{\sqrt[3]{2}}$$

$$6. y = (1-5x)^6$$

$$y' = 6(1-5x)^5 \cdot \frac{d}{dx} (1-5x)$$

$$y' = -30(1-5x)^5$$

$$u^n = n(u)^{n-1} \left[ \frac{du}{dx} \right]$$



$$7. f(x) = (3x - x^3 + 1)^4$$

$$f'(x) = 4(3x - x^3 + 1)^3 \frac{d}{dx}(3x - x^3 + 1)$$

$$f'(x) = 4(3x - x^3 + 1)^3 \cdot (3 - 3x^2)$$

$$f'(x) = (12 - 12x^2)(3x - x^3 + 1)^3$$

$$8. y = (3 + 4x - x^2)^{1/2}$$

$$y' = \frac{1}{2}(3 + 4x - x^2)^{-1/2} \frac{d}{dx}(3 + 4x - x^2)$$

$$y' = \frac{1}{2}(3 + 4x - x^2)^{-1/2} \cdot (4 - 2x)$$

$$y' = \frac{4 - 2x}{2\sqrt{3 + 4x - x^2}}$$